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1. oooooOooOOO0OO0OO0O0.(100)
(1) O f(z,y) =2ty — 2%y + 4 2)0 f(z,y) = Va2 —y?

2. 00000000d-0000.(100)
()0 z = f(z,y) =2 + 2y + 2¢° (2)0 z = f(z,y) = log(2® + 2y + y°)

3. 000000000000O0000000oooooOoooooO.(100)
(1) 322 +2y>—2=0 (1,1,5) (2) 322 +2y*+22=6 (1,1,1)
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(00000000 2*—y=u, z=0v0000)
6. D0 z=f(z,y) =22y +¢*—3(2—»y) 0000000 .(150)

7. 000 Flz,y) =2 +22y+ 2 —4=00000000000y=f(z)00000
000O0000O0(150)
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(2) 000 y=f(z)00000000

8. 00 22442-32=0000000 f(z,y) =22 0000000000000
600000000«000000000(150)



